
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

COLORPART NUMBERDESCRIPTIONQTYITEM
RedDIN 933 - M12  x 40Hex-Head Bolt87
YellowDIN 931-1 - M12 x 50Hex-Head Bolt46.1
GreenDIN 933 - M20  x 40Hex-Head Bolt205
GreenDIN 6916 - 21Washer204
RedDIN 985 - M12Hex Nut123
RedDIN 125 - A 13Washer122
MagentaDIN 985 - M24Hex Nut201.1.3
MagentaDIN 6916 - 25Washer201.1.2
MagentaDIN-931-1- M24 x 360Hex-Head Bolt201.1.1

1 
A3

JAKE - Aid frames and 
Sleeve units
Valtra T-Series

State Changes Date Name

Drawn
Checked
Standard

Date Name
18.4.2008

www.jake.fiJAKE

6.1
7

3
45

2

1.1.1

1.1.2

1.1.3


